101. What is the basic concept of Raman effect?

(A)

B)

reflection

incoherent scattering

% coherent scattering

D)

refraction

TTwen eflenartey eTHS S55IeUEMS SiigLILeLWTES QsmerLg)?

A4)
(B)
(©)

®)

GrHuadliiy
psHdem @.aﬂé:é]g,md)
255 @afléflspa

ot eSlevga

The Epsom salt which is used as laxative is

V‘( MgSO, - 7H,0

©)

(D)

CaSO -2H,0
ZnS0O, -TH,0

CuSO, -5H,0

e @erdSlwimg LWeTLIL Sdalqll 6TLISD 2 LIl 6T8)?

4
B)
(©)

€)

CCS2T

MgSO0, - 7TH,0
CaSO, -2H,0
ZnS0, - 7TH,0
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103. IVV’hich one of the following is the correct composition of Brass?
(A) Cu-50%;Sn-50%
/Cu—ﬁ(}% ; Zn — 40%
(C) Zn-70%;Sn-30%

(D) Fe—40% ; Ni—60%

Epssa_cunme NFgemarufer sflurear 2 Caonssswameuuien s56i510 ererer?
(A) Cu-50%;Sn-50%
B) Cu-60%;Zn-40%
(C) Zn-70%;Sn-30%

(D) Fe—-40% ; Ni—-60%

104. What is phototropism?

(A) movement of plants towards chemicals

\ﬂ/ movement of plants towards light

(C) movement of plants towards soil

(D) response of plants for day length

Gum_GLrm_grii9enid eramme 6remnes?

(A) Qagseafer Gaud Qumrmer Crréflw @uissD
B) . Qegsaflan gafl Crradu Quissn

(C) Qsysefianwer Crrédu Quésd

(D) GQeysafier gafl sragg eflaner

= . 29 CCS2T
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105. Match the following :

(@)
(b)
(©
(d)
(e)

Ranthambore '
Manas
Nagarjuna sagar
Palamala

Indrayathi

(@ (b (©)

\/4 1 3

B) 4 2 1
©) 1 4 3
D) 3 1 4
QUTBHES.
(a)  pensmbLT
(b) mm}m‘m
(©)  prasiseen snsi
-(d) LITEILDG)
) @pdyraud

(a) (b) ()
A) 4 1 3
(B) 4 TR |
©) 1 4 3
D) 3 1 4

CCS2T

(d)

]

Assam
Jharkhand
Andhra
Rajasthan

Chattisgarh

(e)

)

DIFTLD
EOmTE T
2pBHITT

@ rreyevg e

- ESEAST

(d)

(e)

5

o

30



106. Match:

Tribe Region
(a) Masai 1. Angola
(b) Saami 2. Kenya
(¢) Kalinga 3.  Philippines
(d) Bush men 4. Siberia

(a) (b) (© (d)

vg/z 4 3 1

B) 2 1 3 4
© 1 2 3 4
D) 4 3 2 1
QuTBHESS
LILpMI & lq.uSl e QrCsed
(a) we&ml 1. ouGasrer
(b) smd 2. Qsernum
(c) &sdmusm 3.  Welllienuenen
(d) ysrwellgrsar 4. emsSAwnr

() (b) (c) (d)

A 2 4 3 1
B) 2 1 3 4
© 1 2 3 4
(D) 4 3 2 1
P 31 CCS2T
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107. Humboldt ocean current is otherwise known as
(A) Kuroshio current

(B) Oyashio current

\;/ Peru current

(D) Florida current

anbGuré FCrm b Geaiaumpraead Hflwiiu@eamg
@A) @Crmreflwr FCrm L ib |

B) gurediGur BFCrr Lb

©) Glu(s BCym_L1b

D) yCermAm FCym L b

108. ‘Sea Smoke’ is common in
(A) Equatorial region
(B) Desert region

Atlantic ocean

W Arctic region

‘SL6 L& STHTIIONS STaiiL@eug)
A)  gosBuGreos ugd

B) ureweaear GyGssibd

©C) < eoramgs Curmgf

D) =gsued

CCS2T - 32



109. Who started Home Rule Movement in India?

\/ Annie Besant

Sathiya moorthi
(C) E.V. Ramasamy

(D) K. Kamaraj

Qpduneile sanem_§l Qussims TGS wi?
Q) seaQuean

B)  ssfwepiss

©) el QuAwmir

D) @.smwoyreT

110. Tamil Books were printed firstly by whom?

‘/ Rev. Zieganbalg

(B) . Rev. Schwartz

(C) Rev. Grundler

(D) Robert De Nobili

WP (PHONS SO LSSEmEMET DFSI_Leui wri?
Q)  Esérunés mui

B)  seunrtlav urdHRwmd

C) EmLe i

M) gruil g Apm9ed

= ' 33 CCSs2T
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111.  Who converted Mahendra Varma I from Jainism to Saivism?

(A) Sambandar m;)par

(C) Sundarar (D) Perundevar

weomd wCapdrearoamen wgear wssHdlBbg amaa WEEADEG WIHHIwGT wriT?
(A)  abupsT B)  eum

(C)  amgym D)  QumpCgeurr

112. Name the chieftain who patronised Kabilar
(A) Ay

(B)  Adhiyan

\/ Pari

(D) Anj

sy sfse Curhilu Abmrer Quwens MG S.

&) ey

B) e

(™ wm

D) =i -

CcCsa2T 34



113. The Portuguese Sailor who reached Calicut in 1498 A.D. was?

]

(A) De Almeida

/Vasco da Gama

(C)  Robert Clive

(D) Albuquerque

1498-1b yer(® sarafl&EGariamamwu e bs Cuniggissslu wrayd wmr?
A) g-@GwwLr

(B) | aumeCETLSmLom

(C)  grurl Senereu

D) eoysrs

114. On behalf of the Justice Party, who won and formed the ministry in 1923 election?

\;/ T.N. Sivagnanam Pillai

(B) P. Thiyagaraja Chettiyar
(C) T.M. Nair

(D) M.C. Raja

1923-1b e e Qunm Caigealle FHaal & erturs Qeundl QuHm <4 S SeGFHeuT WTT?
(A) T.N. fleugprend Gerenar

(B) P. dursgng @&Lq@nﬁ

(©) T.M. prnwrr

D) M.C. grgr

35 - CCS2T
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115. Where was the first Indian National Congress met?

(A)  Delhi \/ Bombay

\

(C) Calcutta ' (D) Madras

s @b Casflw ariidlyeiien sal L LD 6THIE Soig WIg?
(A) QrLeed - ' (B) wbuml

©) sosssT | (D) @mmm'

116. The Forward Block Party was started by whom?

\/ Subhash Chandra Bose

(B) Motilal Nehru
(C)  Rajaji

(D) Raja Ram Mohan Roy

- Sunfreui® Geré U8 wiryme QaTLBisuu’ L g?
(A)  suney Ejj(é]rIGu.rrGiu
B) - CGurdard Cr
(©C) prgre) |

D)  grgr pmbd Comse Fmil

ccsaT ? 36



117. The institution of Lok-Ayukta was established first in the state of

(A)  Gujarat M/Iaharashtra

(C) Rajasthan (D) Kerala

Cors-uast pser psedle eThg wrblassle ®wssUIULLg?
A)  ©gIs (B)  wsryreyym

(C) grgevgmen (D) Csyerm

118. Who said “The Directive Principle of State Policy is a Novel feature” of the Indian

constitution?

(C)  Aladi Krishnaswamy Ayyar

(D) B.N.Rao

@pdu srflueewvided “wrs awsr @ Apdlpons Cardams @if o aragwrer L sreing,
Fn LG wmm?

A) KT esr

(B) B.R. o0Cussit

(C) g Amagemrsmdl Swim

(D) B.N. greu

= | 8% CCS2T
; [Turn over



119. The idea of concurrent list was borrowed from

4)

(B)

British Constitution
Canadiaﬁ Constitution

Irlsh Constitution

\M Australian Constitution

Cumrgluligwé erepb &meg umiuliL_gl.

(A)
B)
(©)

€0)

@rdlombdlen orHlueeanol el mbg)
se_medles yflweenUNed(Hha!
Siwirerpdlen réueeaniiledmba)

2pevdlfiGawmedlern cirflwweanoiGel(mHg

120. In which year the Parliament enacted the Official Language Act?

(A)

B)

1955

1965

Vﬂ/ 1963

(D)

1957

eTHS GU(BL_LD UMFEHLETDSHa Siaeud Gwmf sl b Qunniul Lg?

(A)
(B)
(©)

(D)

CCS2T

1955

1965

1963

1957
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121. The members of the Central Administrative Tribunal are given status of Judges of High

Court from an Amendment in the year :

(A) 2003
(B) 2004
(C) 2005 ;

M 2006

waHHw Sriumu i@ju@ml’r&@é@ e wibflwerm FHusarar Dpsavg upmsiulL L HHSsD

Cm@smereriiLil_L oy,am[H

(A) 2003
(B) 2004
(C) 2005
(D) 2006

122. What is the aim of Pradhan Mantri Gram-Sadak Yojana?

WProvide all Weather road connectivity

(B) Provide all Weather to Tele communication connectivity
(C)  Provide Food Security in all seasons

(D)  Provide Education to all people

“QrsL wiHdh aﬂﬁrrm gL Qurgern” S sdlen Cunéabd (@olsCandr) erg)?

(A) i@arauBEED S@adE Uheu STOREER&EEGD FTae cusSleameT g5
(B) Qsrenaev@sriry cusdlaemen Dimards L[Heu-Sromi&Eh&EEGD THL HeMDS5Q
(C) mass umau-sromsalgib 2 ara) LTg&TIL Qs

(D) eaCanmésw sael eusd gpun® Qelige

= 39 _ _ CCS2T
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123. When was the “Industrial Finance Corporation of India” established in India?

(A) January 1, 1950

‘)B/ July 1, 1948

(C) June 5, 1951

(D) May 1, 1950

“@iHw Asmféd AHsswsn” @bdwureld arulurus THURSSILLLE?
(A)  sareufl 1, 1950

(B) gYmel, 1948

(©) groan5,1951

D) Gwl, 1950

124. Which is the biggest nationalised enterprise?
(A) Bharat Sanchar Nigam Limited

(B) Indian Post Department

/ Indian Railways

(D) Oil and Natural Gas Commaission

Bau@uilu Qurgsgieon Hlnpeuard erg?

A)  Q.erev.ere.ered (BSNL)

B) @bdu Ensd gon
(®) Qpdw ruileoGeu g

(D)  eaam@enrus erfleumy Hmeued

CCSs2T 40



125.

126.

Identify the mismatch :

(A)  White revolution -~ Milk

(B) Green revolution - Food grains
(C)  Blue revolution - Fish .

M ellow revolution - Flowers

seuprer QUTHESSMSE HaT(HIL SHa|D.

(A) Qa.ls&wmp Yyl - LImed

B) usew yyLé - 2 a6y Sestlwitd
C) Beoygd - Ser

(D) ~ weEpser yyél - y&ser

% per year.

National Agricultural policy aims at a growth rate of

@) 3% ﬂ

© 6% _ D) 8%

Csélu Ceueatmeisr Qamatenswnens) AaTHEE

Qarer(Hereng).
A 3% _ (B) 4%
(C) 6% (D) 8%

41

ggais aamédleow Cpréswons
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127.  In how many years will a sum of ¥ 1,600 amount to ¥ 1,852.20 at 5% per annum compound

interest?
3 B) 4 _
(C) 5 D) 6

T 1,600 pangy 5% pawr® sl () aul iy 65510 Qanan® arssmar emdseilad T 1,852.20 e _s@in?
A4 3 B) 4
€ 5 D) 6

128. Simplify :

| (A) 2%
vt -t
© 55
® -2
sEEs:
(3)-poes)oe 53]
(A) 2%
®B) - 5%
(C)_ _ 5%
(D) - 2%

CCS2T 3 42 =



129.  Find the area of the iron sheet required to prepare a cone 24 cm high with base radius 7 cm

wa/ 704 cm? (B) 702 cm?

(C) 700 cm? , (D) 668 cm?

24 Qe.8. 2 WD SigUsSs T 7 Qs.5. AererL sby gwrilés Comeuwrear QmbdY S ig.em LFUY

ST &H
(A) 704 Q.52 (B) 702 Qg.62
©) 700 Q&..52 (D) 668 Qg.82

130. The sum of the series 31+33+....+53 is

(A) 1729
B) 341
V( 504
(D) 604

31+33+....+ 53 eremm Agm_flen sa(Hsev crevran?

(A) 729
(B) 341
(C) 504
(D) 604
= 43 | CCS2T
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1_31- Find the G.C.D. of @® -1 and a® -1

(A) a?-1
(B) a+l
@& - gr=1

a) a*-1
B) a+l
© a*-1,
M) a-1

132. What percent is 5 grams of 1 Kg?

A 5%

\/0.5%

1 &Car Aol 5 Symbd % eremen?

A 5%

C) 05%

CCSa2T

44

(B)

D)

(B)

)

1%

0.2%

1%

0.2 %

]



133.

134.

LI

The value of

316
2
A =
(4) 3
16
81
92x18% . :
;1_6 — & iy
2
A =
(A) 3
16
C fais
© 81

9% x18% |

15

The cube root of 0.027 1s

@A 3
(B) 0.003
(C) 0.03

(0.027) e &ew epevid

) 3
(B) 0.003
(C) 0.03
D) 0.3

45

(B)

(D)

(B)

(D)

©o|n

82
243

© |

32
243

CCSaT
[Turn over



135, If a+b . b+c _c+a

=k, Then the value of k2 is

c a b
Aa o
® 1
v
D) a+b+c

a+b _b+c c+a

=k erafléd k e Sy

c a b
@ 0
B 1
o 2
D) a+b+c

136. The ratio of boys to girls in a class is 4:5. If the number of boys is 20, then the number of
girls is

(A) 15 (B) 20

V/ 25 ®) 26

@M wELAL wraraisd, wrarellwisd eldsnd 4:5. wrameaisalean aarafiéms 20 aafld

wresredwien cramanflGans
(A) 15 - (B) 20

C) 25 (D) 26

CCS2T 46 =



137. Given the pie chart. Obtain the pass percentage of student who passed in 1%t class.

Passed in First Class
Passed in Second Class

\ Failed

Passed in hird Class

A  35% B) 30%

©) 10% ' | Vi!!( 25%

@bs craflau’ L eflerés UL SHSBHE wraeuisear s au@ly Csiréd Qubmpeuiseng eflwsaT®H
GTGTEn ? '

& su@GU e Coras
@rerLmb el Cairad e ULl bp
12654, 90°
103
Cséé Quprgeurser
epenmd au@Lde Caired
(A) 35% ' (B) 30%
©) 10% D) 25%
2 47 CCS2T
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138. India’s first bio-fuel flight was operated between

v«( Dehradun to Delhi

(B) - Dehradun to Mumbai
(C) Dehradun to Kolkatta

(D) Dehradun to Chennai

@ Suinefiar g 2.1 ~ erfQuingper liomemb Gecflay pemisEssdel Cus GuEsTLLL
(A  Cuor@en — QLeved

B) CLygr@en — apbeu

©)  GLyrGen - Qarédsssm

D) Cupr@er — Qeerenen

139. In ﬁrhich of the following states, more number of people were affected by 2018 monsoon?

M Kerala

(B) Assam
(C) Andhra Pradesh

(D) Megalaya

&1 2 ¢rem eribomBlegSler 2018 Limeu wenpulanme 2iHls waser urHUGDGaTarTSenTT?
A)  Gspord
B) =emD

©  <=pdly GGgsnd

(D) CGuwasmeowrr

CCS2T 48



140. -The crop which gets affected by pink ball worm is

(A) Banana
(B) Wheat
(C) Mango

\MCotton

QerepéleuiL Libg Lpeured UrFssu@n uudi

@) ameny
'(E) Canayano
€ wr

M  umss

141. World’s first Block chain Bond was launched by

Reserve Bank of India

Vm’ World Bank

(C) Hong Kong Bank :

(D)  State Bank of India

2 vdle @,@3@ Block chain ugdlysens Sfpstiu@sdw cumd
(B " i Ban b sl

B) 2os5mmd)

(®)) QDTTRISTIES Uil

D) E@6HweavCLL aurd

49 CCS2T
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142. Which among the following industries generates invisible exports?

(A) Fishing

' \/ Tourism

(C) Jewellery

(D) Handicrafts

@mm@mmmmgm yeouuL s ghniwdew CoromedliiLig,
A)  Benlg Asmfle -

(B)  spmer g

©)  <ugeawr Agmple

D) mseamans Qu THL_&GET

143.  Which of the following agricultural commodity of India gives largest interms of export value?

(A) Tea
M Basmathi Rice

(C) Spices

(D) Cotton

Qemau(mid srdiCeanmainenis 2 DusH QbdHwurellen sidswrer gnmwsd wHliemu g,@éis%wg)@?
A Gzulena |

B) umrevwd M

(C) pm e APL_g HET

D)  vwsd

CCS2T . 90 s



144. Which of the following programme aims at the promotion of savings among rural women?
(A)  Jawahar Rozgar ijana
(B) I Pradhanmantri Mahila Yojana

Rashtriya Mahila Kosh

WMahlla Samridhi

QeraumeuaneupmiaT araSHLL1b Symoliym waaflfler Callumu cad@elluugHaTs S@waEslLLLg?
A)  meuant Crresi Cuirgearm

B) dgsremwopAHf wdlerr CurgerT

(C) graglffw wéenr Camey

D)  wherr s

145. Which of the following policy brings 5 lakh acres under organic farming?

(A)  Shyama Prasad Mukherji Rurban Mission

M Pramaparagat Krishi Vikas Yojana

(C) Pradhan Mantri Krishi Sichai Yojana

(D) PM Fasal Bima Yojana

& 2 een r&QaTETNS 5 @b gasT Homsmer Qunens Ceueatmasrenoulien S Qamem (B cumeug)?
A) -eiq,Lunmrr Lpans (p&ired @r‘fusirr Wlagetr

B) uwrbwrurss sfad lsrev Cuirgert

(©)  dpsrenopst sfafl agsdevmis Gu_lrréemrr

(D)  Q.erb. umge Swr CurgenT

= 5% CCS2T
[Turn over



146. According to 2018 — 19 budget report, India is at third rank in -

M Purchasing Power Parity (PPP)

(B) Gross Domestic Product (GDP)
(C)  Agricultural Production

(D)  Foreign Direct Investment (FFDI)

2018 - 19 ffiflena iflsamsiiig Gereumd ereupmieT @bHwr epermmslLSHd 2 cremg)?
(A) surr@@Lb e goblenay

(B) Qurgs o ampm_ @ 2 pusd

(C) Ceuenmetr 2_HusH

D) apBlw Cory. apse®

147. Which curréncy is recently added in the currency basket of IMF?
(A) J apax_;nese Yen
Chinese Yuan
(C) Indian Rupee
(D) Brazaiian Dollar

BB ® prewnub sbusde IMF-ar prawmws s ulle CarssiiulLg)?
A)  gourefier Quier .

(B) ewganmmellen ujeumes

©C) @bdw epumis

(D) &Guﬁaﬂum;_nmﬁ

- CCS2T - 52



148.

149.

& - Mr
By . 220
W ® %

150.

1 Femto is equal to ————— m.

@ 10° | \m/m-“

(© 10° (D) 10°

1 QuibGLrr (Femto) = ————— (5L

A 10° : (B) 107*®
5 -10° . (D) 107

What is the value of gravitational field at the centre of the sphere?

GM
r

(©) D) -GM/r?

Camerts Lyerefll epowigdledr LefuSitiy yeoddler wdl iy wirg?

@) s ®) %
5. 2L D) -GM/r?

r

Which of the following is sensitive to ultrasonic waves?

(A) Man Mat

(C) Bird (D) Fish

Caerm gellanws 2_ewT(THD SEEMID WM(HEE 2-6Targ)?
A) - vafllgen (B) Qeuereumed

©) upeeu (D) Ben

53 CCS2T
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151. What happens in the reduction process?

(A)  loss of electrons

M gain of electrons -

(C) loss of hydrogen

(D) gain of oxygen

2046 clmanie Spssam_abBle erarar Hlapdns?
(A)  eesiyrersdr @LiL|

B) s TS gL

(C)  anymen Gty

D)  aysadgen

152. Galena is the ore of which of the following metals?

(A) Silver
‘% Lead
- (C) Gold
(D) Iron

salent eranLg) SpssarTeunile) 2 erar arhg 2 GCanssHen sTgLIGLTMHET?

(A)  Qeusrafl
B) srfwb
©) shswb

@ @iy

CCS2T o4



153. In higher plants the sporophytic phase is formed after growth and development of the zygote.

Point out the type of cell division involved in this growth.
x Mitosis

(B) Meiosis

(C) Amitosis

(D) Zygotic meiosis

2 wireuems greugmsaien evCuUTGrraulys Hlow meGamiyear aarmédl WIHDESTL 2 Heurdpg).
ahs euens Qe 9fey @Hé GewuduBng eraums s igsaT(H
(A)  ewwl_Lmedlen

(B) WBwmredew
(C) gewlLreadlev

D) @sCamiigs Blwmredlev

154. Kuhne’s tube can demonstrate the process of

% Fermentation

(B) Germination of seeds
(C)  Growth of plants

(D)  Aerobic respiration

@enev Gmi eThg Hlawenes Hlm9s@wn
&) Gprdssa

®) s paassd

(C)  sreuy auanivsd)

D) . STHmELW seurélgge

= 55 CCS2T
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155. A preparation of living (or) killed micro-organism (or) viruses used in prevention of diseases

through immunization is called

(A)  Toxoid \/Vaccine

(C) Viremia (D) Anti - toxin

2 W marer (21) 2ulrHn mavafilu 2 Wflamsdr () emaupdvamar B 2 Ldlgidar Qeqsd HLEES
ardliriy s&dlenw 2 (Heuns@eusn(E erene GlLwir?
A)  Lnssmi ' B) s®UY 2xd

©)  Offlum D) eadi-pés

156. The source of energy in any eco system are
(A)  Osmotrophs Autotrophs

(C) Lithotrophs (D) Heterotrophs

GBleauiweier 2ppmeler p&dl DpETHD
(A) =G wearLew B) < CLrwam b

(C©) geafl wawr_ew (D) GeucuCeumy weRr_etd

157. The Acid Rain destroys the vegetation, because it contains
(A) Nitrates . (B) Ozone
(C)  Carbon monoxide \)( Sulphuric acid

Sl WWaPWNATE Jdarsg Sraursasuw PEGD gamvweamLwsg aalle ifd L

2_gTaTenay
A)  ap Gyl B) ¢Garen
(C)  sniuer Curamrsas( (D)  solwMs e

CcCSs2T 56 x



158.

Which of the following statements regarding soil are correct?
il Soil is a dynamic natural element

IL. Itis compbsed of bOti‘l mineral and organic matter

III.  The characteristics of soils depend on parent rﬁck

IV.  All the soils having a well developed soil profile

(A) ~ All are correct

W I, IT and III are correct

i

(C) I, 1I and IV are correct

(D) I, III and IV are correct

Qéeumib e Ghssran aursdunseid sfluraemeusdr creaneu?
I. ewr M Feeno @ararr. Guinens smrenfl

II. @oaser grgsser wHMD 2 ulT LDL:.@&ET-TITQJ DLHTEDE

II.  @eaisafler uarry 2 meurar urapuilamer AUIMEEs imwang

V. é{mwgg LD&T QUEES(EBLD uaTTESluenL b GNISE Caul B Campnans Gameriy HéELD

A) S@aggb sACGW
(B) L II womwb IIT w G &f
(©) L II wpgd IV wl_ G efl

(D) I.’ III wpmw IV v Hw &Ml

57
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159. Name the place where the River Ganga and Yamuna joins?

\/ Allahabad (B) Hyderabad

© Delhi (D) Agra

SHRIME LMD, Wpenar mib shH&EGED QL sHer QuwiT ereen?
A)  esTUTS (B) MADSTITS
(C) Qread D) sor

160. Name the dam constructed across the River Sutlej

(A) Hirakud dam

‘}( Bakra Nangal dam

(C) Kosidam
(D) Mettur dam

st aoi @dila GnEts s (e sameamudar QUL arénan?
A)  ablymEl ement

B)  usyT - prRSH 6T

(C) Carél siemewt

(D) Cuwl @i senemr

161. In which year Madras Mahajana Sabha was started?
(A) 1881 1882

(C) * 1883 W 1884

eThg peanr(h Gaenenet wammen senu-CoromelssiiulL g ?
(A) 1881 (B) 1882
(C) 1883 (D) 1884
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162. Who was the founder of the Thiruchenkodu Ashram?

(A)

D)

E.V. Ramasamy Naicker

C.N. Annadurai

HmEQemGar® SArwsams Hipeslweu wmi?

(A)
(B)
©

D)

.Geu. grwers BmussT
8 p
TTERTe]

sMHE

8).cTelT. D|EHTERTIG)En(T

163. Annamalai University was started in the year

A)

1915

W( 1929

©

D)

1921

1945

DIETEMTTLOENED LIDSFMOSLRSLD 4 TDEGNESILL L He(H

(A)
(B)
©)

D)

1915

1929

1921

1945
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164. Where was the first nuclear reactor of Asia established?
(A)  People’s Republic of China
- (B) Japan

(C) Taiwan
\p’ India

2 FHT_SHD (PSOTEUF SIG 2 M 6ThIE Blmieuliu_ L g)?

(A) wsser Sené; GG WIS

B)  suumer
(©) eseuren
D)  @sBur

165. Who assumed the title “Chittrakara Puli”?
(A) Rajarajal

Narshima I

W Mahendra Varman I

Nandh1 Varman

“8sgramryel” eremmy 6flmg QU G L UL L weernit wmit?
(A) - qpsemid FreTTEye

B)  @psembd prélbes

©) psombd wCsHSly euioar

D)  mpd auioan
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166.

\/ Surat Conference

167.

Which congress conference was attended by Bharatiyar?

(B) Madras Conference

, © Bombéy Conference

(D) Lucknow Conference

eTh Sridlyen MHTLige urFunt sebhg GarerrLmiT?
A) s wIET®H

(B) Qsenenew wormr®H

(©  wbumi wrpr®

(D) @&Carm wABTH

Who extended co-operation to PuliTevar?
(A) The French
(B) The English

(C) The Portuguese

w( The Dutch

qaﬂs(ﬁgm@é@ 24576 G‘sn@gg;ur'rsdr wimi?
(A) | 9QyEpasTyTS6T -

B) udCowiser

(®)] Gurrfré&&éiu.: e e

D) Lésssrynser
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168. Which Act provided Provincial Autonomy to India?
(A) Rowlatt Act — 1919

-(B) Minto- Morley Reform Act — 1909

\/ The Government of India Act — 1935

D) 'Montagu-Chelmsford Reform Act — 1919

eTHS FU_LLD @bgmnaﬁﬁ)@ wrfle swm’ § sflsrrsams euprifluig)?
(A)  Qrereol_ & L ib—1919

B)  BenGLr-wmied EiHmss s b — 1909

© @pHu spemie s — 1935

D) vrarCL(G-Cgben o .Curi@® Fdmsss b — 1919

169. Whom of the following was the Chief Organiser of the Revolt of 1857 in Bihar?

(A) Amar Singh

M Kunwar Singh

(C) PirAl

(D) Imaduddin

1857-b e swsgdear Gurg Epsser puisaile Seri yrlédllber gmrdeariuremrs
Bppeit wri?

(A  owrém

B) semeurt A

(C) it =ed

D) Quwse Fer
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170. Which one of the following Parliamentary Committee is Semi-Judicial in nature?
(A) Committee on Petitions

(B) Ethics Committee

\y/ Committee on Privileges

(D) - Rules Committee

EDESRTL LIMTTERLINE @&Weealld ahg e G urd BHufurwear garanwuemLwig?
(A)  eflawmemTuus @
B)  <ntpds 5w

(©€) Apuyfews G

D) H&PsEw

171. The Constituent Assembly of India was set up according to the proi)osals of

(A) The Cripps Mission

y The Cabinet Mission Plan

(C) The Mountbatten Plan

(D) The Nehru Plan

@psw srdlueenwiiy Hiifewru semu wrmeLw apen@wmfledier Sigliuem ule ghu@dssinL gi?
(A)  Hfuev WBlager

(B) Cslen’ Wager S b

© mm@t'. GuiiLer Sl Lib

D) CrHrwo

= 63 CCS2T
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172. Which one is not part of the Panchayat Raj?
(A) Smiti

(B) Village

% Township

(D) Zila Parishad

ThS Qem LEhFTLS TreRuISHe ‘@ei)mei)?-

A) swd
(B) dymowb
©) paflub

D) Heoorufsrs

173. Which part of the Indian Consﬁtutior_l deals with Fundamental Duties?

(A) PartII
~(B) PartIll
\/ Part IV A

(D) PartV

Qi Srdweenbd BiglumLE sL@wse abg UGHD B dgiamrssiiulHereng)?
@) s I |

(B) umsbIII

(C) umsb IVA

D) urebV

CCS2T . -G8



174. Metro Rail Service is available in
L. Chennai
II.  Coimbatore
III. Trichy

IV. Madurai

% I only

(B) IandIV
(C) TandII

(D) IIandIII

QuLGyr pulle Caaneu cusd) o_girem @)L Lb.
I. Qecnenen

II Csrwbysgmr

III. SHmsd
IV. wgenry
A)  Twl@pw

B) I wpmw IV
(©) Twomwnll

D) I wpmw III

= - 8s CCS2T
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175. As per 2011 census the total urban population in the state of Tamil Nadu is

(A)  27.48 million

W 34.95 million

(C) 36.04 million

(D)  42.50 million

2011 waser Agrens sansCasBUdamulg. SUOPHTL 1M F&TUD WEEET QsTans
(A)  27.48 Slevedlwien
(B) 34.95 Hevellwen
(C) 36.04 Bevadwerr

(D) 42.50 Boedwen

176. Which district of Tamil Nadu produces the highest output of food grains?
(A) Villupuram

(B)  Cuddalore

\/ Thanj.avur

(D) Nagapattinam

SODBT 196 eTHS Wwreul LGl 2 ey sraflwumser odswrs 2 pusHundpg?

(A)  efluygb
B)  sLgnm
(C)  seEpeTayT

(D) presulgend

CCS2T 66
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177. At what rate of interest compound interest per annum will ¥ 640 amount to ¥ 774.40 in 2

years

A) 8% B) 9%

\/ 10% D) 11%

(B Fal_(H eul_iqudled eresran s56igHSHl . 640 eng @ rent(h pmHisaflen o 774.40 y@Ww?
A 8% B) 9%

© 10% | D) 1%

178. A circus tent is cylindrical to a height of 3 m and conical above it. If the base radius is 52.5 m

and slant height of the cone is 53 m, find the area of canvas required to make the tent.

(A) 315 7 m?

7 30975 7 m?

(© 27825 7m?

(D) 2997.5 7 m?

(1 FT&HE aixt_rrjmrrsur@ 3 5 2 wipaperer a®%mmu9m 15g) gatbl| SemoBsTH CuTeEn euigeusSHaerang.
D156 SiigILES b 52.5 B, sabiGen smuywiyd 53 8 erafled, SisamLmyb Dmwéss Comeuwnar Hesmen

sieflfen UTlieUs samEE .
A 315 782

B) 3097.5 7182

(C) 27825 782

(D) 2997.5 752 -

= ; 67 CCSaT

[Turn over



1 : .
179. Area of a square is 5 hectare. The diagonal of the square is

(A) - . 250 metres

\/ 100 metres

) . 5042 metres

(D) 50 metres

@ sgITSSer uFliLieTe] % g&ai, aafld sgirsdlen ppenaedli_L b S GLD.
(A) 250 Sl

(B) 100 S

(C) 5042 B

(D) 508

180. The surface areas of two spheres are in the ratio 9 : 25. Then their volumes are in the ratio

(A) 27:75
| vﬂ( 27:125
(C) 81:625

D) 729:15625

@m CGarermisatien umuuuﬁumeqaaérr 9 : 25 arerp eNdlgsHler 2 emeng). jeupdlen ser 3iaTeysefle

el

A 27:75
(B) 27:125
(C) 81:625

(D) 729: 15625
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181. Complete the series 1ZA,3 YB, 6 XC, 10 WD, ?

(A) 14 VE
(B) 15 UE
(C©) 12VE

\Jﬂf'15VE

1ZA, 3YB, 6 XC, 10 WD, ? arénp cuflengenw Byiys

(A 14 VE
B) 15UE
© 12VE
D) 15VE

182. The product of two numbers.is 1600 and their HCF is 5, the L.C.M. of the number is

-w/szo

(B) 1605
(C) 1595
(D) 8000

Am aansaflear Qumssd Qsmans 1600 wHmb meausaia 18.Qur.a. 5 aaflléd carsaiier 15.8.w.

LG
(A 320
(B) 1605
© 1595
D) 8000
= | ® | © coseT
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183. A man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the other he
loses 10%. Find his gain or loss percent on the whole

(A) Loss % =90%
(B) Gain % =5%

W Loss % = 1%

Loss % = T%

@m @sssgsTrRGH aQeuraienud (. 594-&@ et elpori. @eieurmy eNHmdd
10% @Qerueb whpHd 10% HLL W SjuMmEG FHULL . QAorsss8d SauméEsE gHulL amuid
S0y BLL &5IFD STeRTs

(A) - sl sgeisd = 90%
(B) @erub egeisd = 5%
(©) plLsgeisd = 1%
D) plLsseisn =T%

w/'i% (B) 7%
© 62 ®) 62
. 33) % x (22)°
TR ) Txa xa?
@ 74 ® 73
©) 6% ' D)’ _6%
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185. The principal amount triples itself at 8% per annum over a certain time. Find the number of

years.

(A) 20 years

W 25 years

(C) 30 years

(D) 35 years

é@ GIUALL ssreng 8% aully eissHd assmen yamBaafles pperm WL RSTEGD eTand STewms?
A) 20 eugpLruger
(B) 25 aumLruser
(©) 30 eumLrmusar

D) 35 eumLraser

186. What number should be subtracted from each of the numbers 54, 71, 75 and 99 so that the

remainders may be proportional?

(A) 1
B 2
v s
D) 6

54, 71, 75 wpmib 99 eem @aQeunm THRTEILED THS TRTM@E SPSETD s BSHD

50l d5580 BHEGEDH?

@ 1

B) 2

< 3

D) 6 -

71 CCS2T
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187. Six men working 10 hours a day can do a piece of work in 24 days. In how many days will |

9 men working for 8 hours a day do the same work?

(A) 10 days : (B) 15 days

/ 20 days D) 25 days

6 apanaer e Geuenawenws prblamenmsg 10 wenfl Crrb Coume Qawg), 24 prisefld epgliu.

9 - yanser, prlamamse 8 weanfl Cryw Catema Qaigmed, erdzaman prisafled seuCauameen

WPguur?
(A) 10 priser _ (B) 15 priger
(C) 20 prser (D) 25 priser

188. A can finish a job in 20 d‘ays and B can complete it in 30 days. They work together and finish
the job. If Rs. 600 is paid as wages, then the share of A and B

(A) 240, 360 (B) 300, 300
\/( 360, 240 ' (D) 400, 200

A aarueui gm Cauamaaw 20 prisafigin, B aaueair <iCs Caumeanw 30 priseflgib wpigliui. -
Bmeumd Coibg GCoume Gauig), sieuGaumaemu wpigdg m. 600 & smasar aumeaumursl Qupper
crafler A wpmid B & L@ erenen?

(A) 240, 360 (B) 300, 300

(C) 360, 240 _ (D) 400, 200

189. If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31. Find the value of x.

w/ 25 (B) 24

© 30 (D) 26

18, 41, x, 36, 31, 24, 37, 35, 27, 36 @eundlen syrafl 31 erafley x @ e i eremen?
(A) 25 (B) 24
€ 30 D) 26

ccs2T L
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190. Find the difference between simple interest and compound interest for a sum of Rs.8,000 lent

at 10% p.a. in 2 years.

(A)  Rs.70

vgi/ Rs.80
(© Rs.90
(D) Rs.100

e5.8,000-5@ 10% ey oiggdled @Qreh Yp&mhsefldr HaL &G aml( ULysEn safl elysEn

o _arer eNFHLITFSMNSE HT6wTa:.

A) .70
B) .80
©€) .90
D) 5100

191. The national fruit which is common for Phillipines, Pakistan and India is

(A) Banana

(B) Fig
\/ Mango

D) Jack

.lﬁlcﬁlusﬁ)ushefu, urndlevsmer wHmib QbHw priHsafler Curgeurar GCaflw LD

(A) e
B) =58
(C) or
(D) uenm
= o8 "n 73 CCS2T
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192. In which city the first Nepal — India “Think Tank summit” was held?

Y

(B)

New Delhi
Kathmandu

Dehradun

W Kolkata

apBaErsEe pgd Crumar— @bdwr “Think Tank wrpr@” peLQupnE?

A)
B)
©)
)

Lgligcvadl
SISO (H
GLU&@GBT

QaressgT

193. The campaign to create awareness among children to identify sexual abuse is

Safety is in your Hands

M Our safety, Our rights

(©)
(D)

Save child, Save future

Child safety in police hand

unellen Gl mISSN AL WIMETD sTemr GWhengsafien CGu eflifltienrie) UL CopOameareriiu’ L

Qpésmyid
@) - sl e

B)  pw ungaTiy, B 2 few

©) ©wbms urgETly, Gr,ﬁfra;r@ umgamiLy

D)

CCSszaT
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194. NREGA gives guaranteed employment for
(A) 50days

M 100 days

© 150 days
(D) 200 days

Casflw oeays Ceuane. eﬁrru]ﬁnq &b (NREGA), Gaume o gdljaungd eflsgn prisaflen
‘srszimwﬂésmas | -

(A) 50 prisar

(B) 100 B st

(C) 150 priser

D) 200 pr _sar

195. The concept of Goods and Services Tax (GST) was originated from

\,;/ Canada

B) UsA
(C)  Britain
(D) Germany

Quirer o> Gaees aufl (GST) ardrug) b e Canandlug?
(A serm
B) =0wiss pRsHU BETE
C) 9fl e
®) Qgiwef

= | ' 75 - ccs2T
[Turn over




196. Black revolution is related to
- (A) Fish production (B) Coal production
Crude oil production (D) Mustard production

&(menw LT @seai e Qam_jenLuig

(A)  BSer2pusd B)  Possil 2pusd
(C) ssameran@anmis 2 HUSH ‘ D) s 2musS
197. Budget 2017 has proposed ————— as the front office for issuing passport in far flung
areas.
(A) Airport (B) Telegraph office
Post office (D) Railway station

2017 Hffleva Siflsemsuier Asmrma gy uGdsalld s_afl B UPRIGUSHE WSO JIYIIDSLONE
ofleflsstiuL g erg)?

A)  eflwomar Hlevawid (B) spd oi@euesid

©) sume Heewb D) yeseuarriyg. Henawid

198. The facility announced for Senior Citizens in Budget 2017 — 2018 is

w Aadhaar enabled smart card

(B) BHIM App
(C)  Shakti Kendras

(D)  Pension scheme

2017 - 2018 Hffleve Siflsensude apss Glq0ésER66M6 Sidlellssuu L auss
(A)  <ysmHLeT QMmeRTESILLL GUDNTL. DL

(B) G.oé.g.6rb. Qewed) |

(C) #54 evvowimasar

D) euapdu b
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199. Golden Handshake scheme is associated with
(A) Establishing joint enterprises
(B) Inviting foreign companies

(C) Private investment in public enterprises

W Voluntary retirement

BHIG MEGRIEGD S @@L er AT T L wig)
(A sl ® HneuamhismaeT o (heums @560

(B) Qouaflpm® Hlmcuenmismen ienpdsa

C) <ewsAnauamsafld gaflunt @gﬁﬁ@

D)  Amoueusy

200. Which of the following scheme has the objective to skill 1 crore youth in the next three years?

(A)  Start up, stand.up

% PM Kaushal Vikas Yojana
(C) MNREGA

(D) Deen Dayal Upadhyaay Grameen Kaushalya Yojana

Qeneu@pbd ahs S b DS parm samhisaled om Carg @amargsisaflar Hmer Cubum_ ghHars
2 (HeUMGSHILIL L &I?

(A GoLmic. @i, GoLTerL. it

B) 9. Qgergd elamev Cumghert

(C)  enb.cran.yi.@).g).er.

(D) Senswmar 2 unswmi Hymdlen Aaeragews Cuimgpenm

= 7 CCS2T
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